Math 135 — Test 4: Version A

April 7, 2019 Name: Soldhen Sat
Instructor: Patricia Wrean

Allowed calculators: Sharp EL 531 and the TT BAII. Total: 25 points

Part I: For these short-answer questions, you do not need to show any work. Place your
final answer in the space provided. Each answer is worth one point.

1. (4 points) Consider the line given by the equation 2x + y = 6.

(a) Write the equation in slope-intercept form.. 3 : -3x+(
(b) Find the slope of the line. M= -
(c) Find the y-intercept of the line. (o , (ﬁ) o G
(d) Find the x-intercept of the line. (3; 03 o 3
ley Y SO
Ax+0:= 6
VR
2. (2 points) If f(x) = %x — 1, find the following. Simplify your answer.
(@) F(-2) - 1 (-3)-) -9
>
B =
b
2

(b) f(5) -~ é(?) -
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Part II: For these questions, show your work and and either write your final answer in the
space provided or graph your answer on the grid.

3. (4 points) For the graph below, state the equation of the line and also the coordinates

of the z- and y-intercepts.

%x4a

equation of line: ﬂ =

x-intercept: ( -d,0 )

y-intercept: CO/ a)

er -4

o R



Math 135 Test 4: Version A Page 3 of 4
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5. (3 points) A straight line passes through the points (—1,3) and (2, —3).
(a) Calculate the slope of this line. Mm= -Jd

Y= ) ~ Y

X3~ X

- -3-3%
2-(-1)
- - . -Q
3

(b) Calculate the slope of a line perpendicular to this line.

my o T

6. (3 points) Find the equation of the line that has a slope of —2 and passes through the
point (1, —5). Write your answer in slope-intercept form.

Y- "Ax -3
J

Lj: mxt
\j'- ’;Y*lﬂ

Sy shikie o~ (';'§>
-5 - _.3(04\9
-GQ - -1

..-'b.’)o

7. (2 points) Consider the relation {(2,5), (4,5), (=1,2),(0,7)}. Is this relation a function?
Explain briefly.

Yes, because  fer Wy X~ va lue Frare
\S Mlj ena \j—\/ﬁ-lu—-@_
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8. (1 point) A system of equations has been graphed on the grid below. How many solu-
tions does the system have?

number of solutions: NG N

9. (4 points) Solve the following system of equations.

y=2r+1 ()
TH+y=—-2 @

() x+y--3

Y - o

[}l

\K-fj

\4




